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Chapter 6 - Cumulative Review (chapters 1-6)

1.) Austin had 4 quarts of potato soup to make 16 servings. He wants to use the same
amount of soup for each serving. How much of one quart should he make each serving?
Use a picture, number model, or words to show your work.
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Austin should use . quart of potato soup per serving

2.) Write a number story that can be modeled by the number sentence 3 + 7 = % ;
| ave D cookses. | wond 4o dhnde My Coo¥ES
(,\.TY\OY\% My Brends . How moon  cookae ol

oo Ck 1A\ Brands %ﬁ?

3.) Paul needs to read 212 pages of a book in 15 days. He wants to read the same number
of pages each day. How much should he read each day?
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Paul should read ’_L‘\&_Zpages each day T ' ) l/
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Explain what you did with the remainder and why.

4.) Write greater than, less than, or equal toto make each number sentence true.

a) 4,16 s %YQCH‘C" HPinoun 4159
b) 7.11s %i’ﬁ:’)@r@f oo 7.039
<) 13.7is less Hhan 13.701
D0517is 183 Hnhan 2.1

5.) Make an estimate and then solve, Show your work on the grid. Use your estimate to
check that your answer makes sense.

2 6013+31=_ 2 LD by 25823=_ O

Estimate: (ﬁ;OODi SC‘ =260 Estimate: 30@ - 3 - /OO
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6.) Make an estimate and then solve. Show your work on the grnd. Use your estimate to
check that your answer makes sense.

a) 79.86 +8.17 =

%073

Estimate: 8() + ¥ = A

b) 26418-73.72 = A0 . 4 e
Estimate: 20— 10 = 190
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7.) 289.6-190.27 = a44.2473
Estimate: Zqo - %CiO - 100 ?Z . .




8.) Complete the table below.

Nuttieral Humber Name Expanded Form

TN Nondred ruoeny

. -~ Lo ~ . ‘\ 2
0723 et PRousincinG O 1~0.02~0.003%
Hlgh | e 0.+ 0. 00

| Stvendy Pnree aond (7 % 10} + (3 1) 4 (5 » 0.01)
75: 065_) Q\Q’\-\\ it Prousonding + {5 = 0.001}

9.) Round 47.5843 to the nearest.
Whole Number: H %
Tenth: L{ 1. G
Hundreth: H1. ¥
Thousandth: H1. 5% 4

10.) Write the value of 4 in each of the following numbers.

2) 413197 __HOO

b)s546.821  HO

¢) 714.326 H

ay123456 O H

11.} Explamn what you noticed about the value of the 4s in the following numbers.

1) 413.197 b.) 546.821 ¢) 714.326 d) 123.456
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12.) Mattie is making two pitchers of juice. One pitcher calls for 4% cups of water. The other

calls for 3 -2— tups of water. How much water does Mattie need?

. Z
Number model: L'j TZF ~ 3 3
i
Mattie needs g o cups of water.
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13.) The grid below is a map of a town’s residential district. Point S represents a school;
Point P represents a post office; and Point H represents a hospital.
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The town plans to build a bus station in the residential district. Planners-want the bus statien-
to be no farther than 4 blocks from the school, the post office, and the hospital. Write the
coordinates for a point where the town cold build the bus station.
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14.) Eddie was solving the problem 5 + e He got the answer o

a.) Explain how you know Eddie’s answer 1s wrong without calculating an exact answer,
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b.}) Solve the problem 5 + rh
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